1 Banks

Balance sheet - SAME
g bf + g7b7 +rey = ki +df (1)

Net worth - SAME
ki = USH,;H[(TF — 12 )@ bf + (rf — 12 )af b + (e — vl )re + (L+ 12 )k 4] + X (2)

Equilibrium conditions - BINDING CONSTRAINT:

_ AP
Ar QeI (rfy =) = 951 +t)\f 3)
e D sp5 AL

At 1 Qe 5 (ry — 1) = A70 g (4)

Equilibrium conditions - NON BINDING CONSTRAINT:
At Qe (rfy —rP) =0 (5)
App1 QI (= rP) =0 (6)

Omega - SAME:

Q=1-0"+0%0%¢7 (7)

Leverage - BINDING CONSTRAINT:

s (LA A1 QeI (1 +rP)
o7 = 9S (8)

Leverage - NON BINDING CONSTRAINT:

s A QI L1+ D)
gbt = QS

Leverage constraint - BINDING CONSTRAINT:
@0 + A%Gh = o7k} (10)
Leverage constraint - NON BINDING CONSTRAINT:

AP =0 (11)



